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Answer all 20 guestions from Group A, each question
carries 1 marks.
gu-Aw w20 yel & SR &, gAS wE &1 A 1 B |
Answer all Five questions from Group B, each question

carries 4 marks.

gu—B ¢ Wit uia gl & o §, udld U 1 W 4 3@ 2 |

Answer all Five questions from Group C, each question
carries O marks.

qu-C @ wiil ofg yeal & oo <, udS 0E & A 69 ¢ |

All parts of a guestion must be answered at one place in
sequence, otherwise they may not be evaluated.
Ud UEl & Wl el @1 9w Ud € ore (ormdiR s i)
gl arfge, ar-uar 4 uifd el ol wad &

The figure in right hand margin indicate marks.
qid ured @ s quie & yas |
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Choose the most suitable answer from the following

options : 1x20=20

watfere Suged fasey &1 gaax fad -

(1) Which among these 1s a service business?
(a) Textile Business
{b) Counsclling Business
(c) Leather Business
(d) Wood Business

(31 | &I 41 AR da1 ddfga 8 ?
(31) dUST AUR
(@) HATEHIR ATUR
(W) a4 R
(c) @bl ATUR

(ii) Which among these is not a manufacturing
business?
(a) Plasti¢c container making
(b) Smart phone making
(¢) Hair dressing business

(d) Candy making business
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g9 9 &I SqIGA—AYR F81 & ?
(&1 wifRed Sear 9911

(@) = w991

(|) STa—HarRA &1 AR

(3) =) F9I191 BT AR

Economic sector is part of
(a) Industry

(b) Trade

(c) Transfer of goods

(d) Exchange of goods

anf3fe &= a7 @ feaad siada aran
e 7

(31) ST

(@) arforsa

(v) g

(2) avg—fatra

Which is an example of Globalization?
(a) Transportation

(b) Mcdia & Entertamment

(¢) Law

(d) All of the above
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{v)

(v)

{vi)
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g ¥ &9 dvHT HT IQTELT & 7
(31) ulRas=

(@) WAR AW Y& AR

(&) @

(2) Suxiad |+

Process industry has primary production
Process as

(ay Continuous

(b} Individual unit

(¢} Parts of materials

(d) Bills of matenals

gfsar-Sgin & o Icare-ufshar 4
T Bldr 2 ?

(31) fFRawar

(4) efdara gord

(W) a%g @ =

(@) a¥q &1 fae

Concept of scientific management is given by
(a) Henry Fayol

(b} F. W Tavlor

(¢) Mc. Gregar

(d) Herzberg
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{vi)

(vit)

(vil)

{viil)

defip—udsa &I Aagol feas gri
CARRIE | -3

(@) 219 Bala

(@) . Sy e

(@) A® TR

(c) sdad

I 4({fourteen) principles of management are
given by

(a) Maslow

(b) F. W. Taylor

(¢) David Ricardo

(d) Henry Fayol

ydud @ dias Rigid feas gro fad
T 87

(a1) wTEAl

(|) TP, Sy el

(@) Sfas Rarsf

() 279 »aia

What is the maximum number required in
sole-proprietorship?

(a) 2

(by 1

(c)7

(d) 50

P.T.O
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(1x)

(1x)

(%)

BT ATIR A J¥Gad Wy g
foaft e+ arfay ?

(31) 2

(q) 1

() 7

(<) s0

Partnership firm must be registered under
{a) Partnership-Act

(b) Companies Act

{¢) Both

{d) None

1) ATIR &1 dofleer g499 4
faad sravda si+r smazas & ?
(a1) urd=f3rg arferfram

(@) ®uft arferfaas

(@) <4y

() ®d =8Y

Sole proprietorship is best when
{a) No capital is invested

(b) Few capital 1s mvested

(¢) Too much capital is invested

(d) Work area 1s expanded
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tHaI-AaaR e Refa § wdgs
gldr & ?

(a1) ®1g gof = o ft 2

(&) % dsft o f) @

(%) srcafSe qoft ol 28

(@) srig=s e dar 2

Everyone in the organisation should have
{a) One boss

(b) Two boss

(¢) Three boss

(d) Four boss

¥ ¥ gde aafdd &1 fean €9
g1 grfag ?

(a1) & v

(8) <1 €@fw

() =1 |t

(]) 9~ 919

What 1s ensured by functional organisation?

(a) Greater efficiency

(b) Standardisation of operations
(¢) Division of labour

(d) All of the above
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(%11}

(x1ii)

{xi11)

(xiv)
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s 4 fewal TR srafee dreH
gr & oY @ ?

(31) Sedd¥ &rHdl

(4) Gdrel-l o1 qr-fibo

Which technique of Project management is
developed in japan?

(a) C.P.M

(by PER.T

(¢) Kaizen

(dy None

4 ¥ Yiolde yse 9 A dpd
&1 fawra s § gan 27

(1) <. 4. ¢

(@) 9. §. s &

(W) &1g S

(8) Suiad &Iy -T2l

Which among these is not a source of
recruitment?

{a) Advertisement

(b} Employment exchange

(¢) Consultancy

(d) Social media
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g9 A &I adl w1 Aeay 98 & ?
(31) g9

(@) ITTR—CFA

() waeed

(@) wrnfore Mfsan

High Morale leads to
(a) Off job satisfaction
(b} On job satisfaction
(c) Personal Satisfaction
(d) All the above

Jod HAldel &I Y19 349  ®el
fearg wsar & ?

(81) dT® ife WA

(@) 3= Sife daiy

(W) egfamra wary

(') Sudtad ot &

Who gave the Motivation theory of Hygine?
(a) Maslow  https://www sbtediploma.com
(b) Herzberg

(c) Mc. Gregar

(d) Victor Vroom
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faven &1 grefor &1 fagra feas
faar & ?

(31) HTEel

(@) olarf

(&) da TR

() faeex g

Which among these 1s a Financial statement?
{a) Journal

(b} Balance sheet

{¢) Tral balance

(d) Voucher

s 4 99 Rchy—fagzo 2 2
(a1) wreta

3) ¥aw e

(W) ¢raa dody

(&) argax

Which author developed theory X & Y of
Motivation?

{a) Mc. Gregar

(b) Victor Vroom

{c) Maslow

{d) Herzberg
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(xviil) fop 3oy 4 vag v 92 @1 srfageon

(xix)

(x1x)

(Xx)

frgia faeRa fear ?
(&) A% IR

(|@) fagex qu

(@) wArEaAl

(@) goiad

Apprenticeship s
(a) Off job training
(b)Y On job training
{c) Both

{d) None

sgfreulRmg o & ?
(a1) a3l witd widreror
(|) 3w wid gf¥egor
(@) <=

(€) ®I¢ e

Workmen's Compensation Act was exacted
n

(a) 1936

(b)y 1947

(c) 1923

(d) 1948
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Al afoagfd aiferfas <9 a1 2
(31) 1936
(d) 1947
() 1923
(c) 1948

GROUPB

Answer all Five Questions.
uft gig g @ SR )
2.

4x5-20

Give five examples of service business with briel
mtroduction.

4

q9d1 AYR & gfa Iarexvl Y vd sqa1
witra ufR=a 4

OR(312147)

What is Manufacturing business? Explain with
example.

IS ATIR RT & 2 ISIEW0 S hY W

I |
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Define Industry Business and Trade with example.

4
S, AR vd gifdrey &l gR¥eT SereEver
@ g BRIy |

OR(3121dT)

What is intellectual property 7 What are rights
related to them?

difge wuer &1 @ur sief 2 ? sad wefera
FTHRT I W B |

What are the positive and negative impacts of
Globalization on India. 4

AedIHT BT TR Y RIT IHRIHE g
IHRIHS 3G 8idl © ?

OR (312741)

Explain in ten to fifteen sentences about
Engineering Industry.

<" O dgE argdl # aifer 9ghr & 9n
H 9dIS0 |
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Explain in brief basic principles of Management.

4
e & Yo fagidl & Wi aaren sy |

OR (31214T)

Define management and administration, What is the

difference between them?

gyderd Ud yImad & gy dfsig
ar+l N @ur e B ?

What 1s Departmentation ? Why 1s it needed?

faarfrevor qar € ? gua) aravaadr «at
e 7

OR(312141)

Explain the sources of recruitment.

ot & Al & 9drsv |
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GROUP -C

Answer all Five Questions.

gl 9fg goAal & Sa¥ ¢ |

6 x5=30

7. What principles must be followed in delegation

of power.
6

gymaaty ferey & faaver & e Rrgral
&1 9Tel-l AT gaifeg ?

OR(312141)

What arc the advantages and disadvantages of

centralisation and decentralisation of authority.
geraf® sifrerl & e vd A=

YT & AT U4 HAT &I qarsy |

8. What do you understand by H R Planning?

What are 1its mamn functions?

A GO Yde 9 379 9T 9Hsa 7
s Y& &l &l 4aisy |
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OR(3r214T)

Explain the safety provisions under
"Factories Act 1948".

fra aiftfFrm 1948 & siaela wenfaa gren
dedl @1 fad=r Sy

What 1s Motivation? Explain Maslow's theory of
Motivation. 6

Yo &1 a9 et & 7 "reet & o
Rigia & sargv |

OR(3121a7)

What benefits are provided to workers under
E. S, T Act-1948.

shar oy dar srferfea 1948 7 Hd=Rea
&l w1 YA yer @ Tl 8 ?

What is meant by Budget? Explain different types
of budget.

6
qulc & @y el & ? Rff=1 yer & |
@ 9R § qd1gy |
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OR (37214T)

What is the process of material purchase in an

organisation? Discuss its steps.

e # awA Hg & Fqr1 ufsear 82

What is Project formulation? What are the

clements of Project formulation?

ylolde AT 4T 8 ? Ylulde Tyl &
oA dcd @1 8 ?

OR (31214T)

What do you understand by PERT? What are
its advantages and disadvantages?

f. §. 3. A 9 3nu g gHsd 27
gU® o Ud AR &1 9drsy |
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